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59  The two hrq;hwﬁ,_'gehﬁﬂly wear cal A clothes.
(A) one others (B} each other
(C) one another's € each other's

| 60 State the type of following sentence from the given alternatives.
' The thief disappeared and he left no trace behind.
{(A) Simple (B) Complex
A Compound (D) None of the above

61 % i AL A wal 7 Rl aud ol ﬂe\k&ﬁﬂﬁ_ 1 %9 o1l
keay [aul a9 7

A
(A) 1 | ®

Tt . .
(C) 7 (D) 489

4 62 is axgll wiliel Bria we 20% 1A 3% #58 2MAR Holg O o) wiRwR
| QiR hael 2s ud sy 7
QO = | (B) 25
(© 20 © 15

v

A

»

63  ADl-uwidl ) woyeds el wd B 7 \?
5 \ Y =
Wiy ®) 5

3 F 3

o SEE
-
{

w—
- L
64 8 waslldl (o 2 2ea-ll fnd o ‘@@}ﬁ s el wA wis 2eadl
s Bud 3. 605 w8, ol zalell Baa deay gfuen el 7
O 165 B) 55
© 192 ® 8B
CLT € U N

e
'\1*_




65

66

68

69

AR #4Y A8 Fell 33 40 da d) ol wa ] v 9ygus
seell ury 7

(A) 1599 ' (B) 1391

(C) 1763 QO 177

o igaidl Ws Wyl easedl wie el Bl wisell o8y opel) 8, wig)dl
seaendl sl adl ey ya sl sq e Wil 8, dl 4 sy
S,

(A) 97 (B) 94

O « j (D) 83

afd Wl w4 5, 6, 7 WA Bl syl sud Q)L il 2 i B W
9 Al sl W L A Yo Wl B, o) 3 w45 ?

O 168 (B) 1645

(C) 2523 (D) 5363

14 eaide dvneil wials wasssla el Ui 58 Yvay wgd 7
21,905, 735, 6615,

(A) 19845 (B) 33075

(C) 3675 O 72765 :

A 28l wis wishis ey g AR 15 8, A 4 weami 18

BHAIUME 2113 o) sl ool a3 HA AL widl wgaisee] saqu]
Hadl et ol @, ol A yU A & gd) ?

(A) 25 (B) 15

O 3 (D) 45

: el *T :
70 A AR wyelAnidl o) sl s Wayad?
3 o
O . ® 5
RS R :
(C) 20 (D} P
CLT (] 1

[Conid..,




71 oflan Wil £12 seisn 72 BAlAl 3l Al B, ol sisid Wi
s 4 Mln2al 56 Bl s aeud 8, oAl susd oedny
.

(A) 716 (B} 4:5 !

(€ 3:5 O s:7

720 udiav el 2, 7, 12, 174 129 Y 8l B2

(A)" 50 (B) &5
O = - (D) 67
73 3463 = 205 - 18611 = + 'SBE3.
O s (B) 997071 :
(€) 997090 (D) 99%070

74 S s A=A 56 a) el 20 G aE B, @ 4 ) g b eyella
- dl dzel 9w «f ?

(A) 0 Q@ ;
() 4 % D) 7

75 @E Awdl al. 5620121 Ay wus Wl e il sy
dl. 14-8-2012+ A% wrd 61 9, b AREIR Jeal Raud cuwr q80] il ?

(A) 68 &n - »

(€ 74 DD :
76 Ald«midl )2 el skl

(A) uBRREER @‘f !@itﬂ

(©) dMe @) 4

. L 9 \

77 ofEer U4 s 3wl wmef A N Ral wd) ) 7 v

(A) well adig g (B) weln dia s

© wel g @) el aiad siind

CLT €] 12 [Contd... .=




78 Bl s Dol wlzaasi sy 8 7
(A) @it (B) Sii-aiks
(C) Ry = gz O i~
79 Rl il s vl & 4 U4 88 wall B 7
(A) 4 - Ae ) wi€l - A
(©) [l - Lg O il - K
80 Alds wd Fnadleml i colde & A A4 55 oAl ey el ?
A-4d s F3dle ol ABlAsA et ad ellal Wi ad ewdtauell ® 254
~ 2 U Ml 32 GARL Aed 5Add HA
(A) 0 = 32
(B) 5 = 41 i
(C) 100 = 212 CX9/5+32="F !
O 5 . = 73 |
81 o™ »idl &y ) o Pl ad 6L ?
Bz« B Sivdsy (B) @l A
(C) [abia ® (D) Eabi B
82  Sgal Hi-a ydlvl suL wivd @ddl A R 7
(A) &sul (B) £ ;
O niv ' (D) &y |
83 mumidl s ssvpey w4 ?
(A) APTIVA (B) MACINTOSH
(C) ACORN @ raseo :
84 svyeasd] Al wlsy wlad : L
(A) KB (B) MB
O Bit D) Kbps
85 llH2 Roflequq @i Wil =ud & ?
(A} Kb (B) Mb
(€) Hz O om
CLT (] 13

|Contd...




r|| S— hl__ -.‘ =
86w Al b ude wa of 7 Y
(A) Waord Perfect (B) Lamﬁm
© Word Star (D) MS' Word
l _ 87 il &6 Waufiz ol v 7
! | (A) Basic - @ Tyring
(C) Java ‘ @) ¢ - N
88 What __  the girls playing @'ﬂ% vesterday 7 Q:""
e N . \I;x
| ' (C) had @i maeﬁg & N
1::- N
89 poor our méidservant is, she E@ X
A However (B) But ‘
© So : N Q;-h
90 Sa,e.hia did not play so ‘i\v
D) well L
(C) better Wy

91 Hloy use WA
The cat jumped __ the 1able. < "
(A) over S '
(C) on

92 The letter has already
It must bave reached by now.
(A) -send :
(€) been send

93 Traffic by the sche i-bovs e
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24 Everyone _  to remove their shoes outside temple.
(A) have @ has
(€C) is (D) are

95 Use the correct verb
A mangb was _ by Manju

(A) eat (B) ate

¥
(C) eats @ eaten

26 He just cannot sleep. He spent lying awake in the bed,

(A) all of the night AR a1 night
(C) hole night “(D) whole night
97  Early to bed and early to rise & rman healthy, wealthy.
(A) make © makes
{C) shall make (D) made

98 The abstract noun of ‘voung' is o
(A) Youngster ~@ Youth
{C) Younger (D) Younker

99 Choose the one which best expresses the same sentence in Indirect speech :
He said to them, "Don't make noise"
(A) He told them that dont make noise.
.@ He told them not to make noise
(C) He told them not make a noise

(D) He asked them not to make a noise.

100 If — I would not lose temper.

@ I were you A T was you

(C) I am not you (D) I am you
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